
RELAÇÃO DO AÇO

8xP1-L4 12xP1-L3 12xP1-L2
18xP1-L1 4xP9-L6 4xP9-L5
5xP9-L4 5xP9-L3 5xP9-L2
5xP9-L1 4xP10-L6 4xP10-L5
4xP10-L4 4xP10-L3 4xP10-L2
4xP10-L1 P17-L6 P17-L5
P17-L4 P17-L3 P17-L2
P17-L1 3xP18-L5 3xP18-L4
3xP18-L3 3xP18-L2 3xP18-L1
P20-L5 P22-L6 P22-L5
P22-L4 P22-L3 P22-L2
P22-L1 4xP23-L6 4xP23-L5
4xP23-L4 4xP24-L6 4xP24-L5
4xP24-L4 4xP24-L3 4xP24-L2
4xP24-L1 10xP31-L2

AÇO N DIAM QUANT C.UNIT C.TOTAL
(mm) (cm) (cm)

CA60 1 5.0 888 71 63048
2 5.0 422 77 32494
3 5.0 348 24 8352
4 5.0 348 97 33756
5 5.0 783 29 22707
6 5.0 87 127 11049
7 5.0 222 87 19314
8 5.0 174 34 5916
9 5.0 87 137 11919

10 5.0 348 147 51156
CA50 11 10.0 32 57 1824

12 10.0 150 198 29700
13 10.0 150 178 26700
14 10.0 174 133 23142
15 10.0 102 127 12954
16 10.0 102 338 34476
17 10.0 118 98 11564
18 10.0 16 297 4752
19 10.0 40 137 5480

RESUMO DO AÇO

AÇO DIAM
(mm)

C.TOTAL
(m)

PESO + 10%
(kg)

CA50 10.0 1505.9 1021.3
CA60 5.0 2597.1 440.3

PESO TOTAL
(kg)

CA50 1021.3
CA60 440.3

Volume de concreto (C-25) = 13.85 m³
Área de forma = 253.96 m²
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